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, 1 the right tringle with 8 = 30", Hypotence = 10cm, then the side opposite

A B) 10 ) 25

SU;Theiz'mz'rof f(x) as x approaches a is L
is equivalent to im,., f(x)= L

BT - A) True B) False

81. From Properties of Limits

D) 5v3
79 If the right fringlé with Hypotence = 10cm, side opposite = 8cm , Find side adjacent

4)2 B) 12 C) 6 D) 36

lim f(x) - lim g(x) = lim[f(x) = g()]

A) True B) False
82. Find e, o (. 2x=5)
A) -9 g) 9 C) 6 D) =1
83.Find  limy,s ——
A) 2 By =3 Q) = By o
: L8 b3
84. Find  lim,_; ;2:2
A6 B) =8 C) 8 D) -8
85, Find N .o (22056
X+3
SRS B) 6 &) = D) 5
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s4.The domain of f(x)=3is

AR B.GER. OO o DRSEE
55.Therange of f(x)=3is
AR B) (—oo,0] C{3} D)R — {3}

56.1f f(x) =3,then f(—1) =3
A) True B) False

57.The domain of f(x)=3%is

A)R B) (=, 0] C)(0, ) D)R — {3}

58. Therange of f(x)=3%is

A)R B) (—,0] €)(0, %) D)R - {3}
59. If 3* =5* then x=0

A) True B) False
60. If 335 =0

A) 1 e D)4

61.Solve for x: cZe* —



3l (4.3) [ E] (3.4) =

T = T T
.. he ¢

A Be) [B] (we |6 CeoduGes |
3. If f(x)=2x+3 and g(x) = x* — 4, then E)(#Q L
f®

4. The function g(x) = x3 + 1 is

AW odd Tﬁ'l even

5. The x intercept of the function f(x) --".';Lg "

S ¢} N R

2x + 3 B. x24+2x—-1
xf—4

6. The axis of the function g(x) = 3(x +5)2— 2 is .
>4 A, x==5 @I x=5 o

7. The function h(x) = 2x + 2 is
— | A.| Decreasing [B. ] Cnnstam

8. Therangeof f(x)=—(x—2)’+6 is
@A) (-=6] [B] (=o,00)

—

9. If f(x) =x and g(x) = 2x +35, the
X (Y] 2Vx+5 |B VX + 2% + 5

L

10. The y intercept of the function f(x) = 2
o O B. 1

I1. The domain of (f — g)(x) where f(x) -*-
XA | [0,10] [B. (=90, 0)

12, The vertex form of f(x) = 2x2—8x + 4 is
A ] 46— -4 2(x-2)*-4 |C. 2(x—-4)2 -2

13. The function f(x) =1 - (x = 2)?iso |
X (@ upward B. downward _ '




ﬁ;rimmmnr[zx —1|=3is... ?
- By x=1orx=-2 [C[ x

I "I 'I'.Iwrmlpuﬂufz+5lis ?
. @] 2 | B. | 5 [C. ] 5i =0

8. The imaginary part of 8i is...7 .
e (AL ] 8 w 0 @| 8i 1
y—

9. The conjugate of 6 is.....7 . |
y & m 0 T8, | 6 1C. | 6i ﬁ

[

10. (3 +20) + (6—4) =..7 ‘ ‘
Mﬁi. 9+2i |B) 9-—2i |C. |
| C. |




2=z “21 _then f(1) = | o

T

3y 3x%—6 <.

N

E::Ii-u-l: T:'_ -

=+x+2 is .

=z |B.| [ =2=4%

15 not

Sitls

The graphs of f and f~ are symmetric with resf
' True

—

e function / = {(1,2). (2:4),3.9)]

True

_-,.1 function f(x) = x*+1 isodd

vj@ True

;;‘:r True e




a7. From the figure, the function is one to one function

A) True B) False

48. If a function f is one to one then f~* will be exists.

A) True B) False
49.If f~1 exists, then f(f 1 (x)) = f T (f ()
A) True B) False
50. Find the inverse of the function f(x) = 3x + 2.
A) x(x — 2) B)2(x — 1) 0)=2 D)2 + 3x
| 51. Find the inverse of the function f(x) = %
!Ill - 3 — X
| A) x(x — 3) B)3(x-=1) G = D)1 + 3x
52.1f f(3)=6 then fi(6) =3
A) True B) False

53. let f = {(1,4),(2,1)} the range of f~*

A) (1.2} B), (=) C){4.1} D)R — {1}




solution for the inequality Vx* <2 is ... ?
_[-22] [B.] (-%,2)u@2,») [(C) (=2.2) l,

16. The equation x? + y? = 16 is not define function:

L @ True B. fﬂiSE

17. The range of the function S = {(—2,}_}, (-1,2),(0,0), (1,2),(21)} =:

A. | {-2,-1,012} B (1,201 |C. 0 )

18. The domain of the function defined by the equationy = vx - 3:
£ [B)] (-=,x) |B. [=3.0) E. ] [3,0) |

19. When k(x) = z—f; then 9 K(x) = ++..2

&7 FL : @ % \©\ 2?—61: ]
ion f(x)=x2+5x-2,thenf(3)=-—-?
C -5 |

20. If the funct
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